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Question No. 1

AT Y oA |

A) TS B)#HaT

C)ay D)pesier

Find the ODD one out.

A)Bangle B)Moon

C)Earth D)Football

Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210134801&qwer=1)

Question No. 2
g 2x + 9 =x2+p =8x + 3 § a 'p' & A AT HY
A)11 B)6
C)10 D)14

If 2x + 9 = x® + p = 8x + 3, then find the value of 'p'.

A)11 B)6
C)10 D)14
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 2) (objection.aspx?qwr=32101348018&qwer=2)

Question No. 3
H@T F qU F| 58, 52, 46, 40, 34, (.)
A)32 B)28
C)30 D)26

Complete the series. 58, 52, 46, 40, 34, (...)

A)32 B)28

C)30 D)26

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=32101348018&qwer=3)
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Question No. 4

FANTT TR WA AT YUitet &7 AT 1284 §1 & 937 [UiF AT A
A)324 B)320
C)322 D)326

The sum of four consecutive even integers is 1284. Find the largest integer.

A)324 B)320
C)322 D)326
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=3210134801&qwer=4)

Question No. 5
Afaf@a 7 O Fiaar sy 99 & 39 g% @
IV IGEIES B)dTelm
C)dar D)Irsgshe

Which empire lasted the longest among the following?

A)The Pratiharas B)The Palas
C)The Senas D)The Rashtrakutas
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210134801&qwer=5)

Question No. 6
TH AT fr darg 12 Feex 3k dls 8 FdHex §1 R e @ 4 FEOA Tor RAr Srar g, o 9l
7 et TR aIfes A 3T T ATh g AT F &FTBe & W& g7
A)6 T B)5 eI
C)4 wdrex D)7 dHR

The length of a rectangle is 12 cm and the width is 8 cm. If the length is greater by 4 cm, what should the
width be so that the new rectangle has the same area as the first one?

A)6 cm B)5 cm
C)4 cm D)7 cm
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 6) (objection.aspx?qwr=32101348018&qwer=6)

Question No. 7


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

ST AT E AET T UF AT A o (o0 ST ST 2 d1 i AT ek, ik 2
o ATH 2T 27

4
1]6
3
5(2
A |4 B. |3
c. |1 D. |z & F1$ 74T

When the given figure is folded to form a cube then which face is
opposite to the face with 27

4
3
5(2
A 4 B. |3
C. |1 D. |None of these
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=32101348018&qwer=7)

Question No. 8
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108

0

02.5 D 952

Study the following table and answer the question given below it.
The following table represents the expenditure of a company (in lakhs)
over the given years.

Item of Expenditure

Salary | Fuel & Transport | Bonus | Interest onloans | Taxes
2014 288 98 3.00 234 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 88
2018 420 142 3.96 49.4 98

What is the average expenditure on taxes per year in which the company
had to pay during the given period?

A 84.5 B. |902
C. 02 5 D. 952
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 8) (objection.aspx?qwr=32101348018&qwer=8)

Question No. 9
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wF fAREa IR W 5% gfdad fr T ¥ 2 aF F fAv WURor sAer AR R A F @ IR $.11.25 B

TRy gar w1
A)%.4200 B)%.4500
C)%.4800 D)%.3800

The difference between the Simple Interest and Compound Interest for 2 years on a certain sum at the rate of
5% per annum is Rs.11.25. Find the sum.

A)Rs.4200 B)Rs.4500
C)Rs.4800 D)Rs.3800
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210134801&qwer=9)

Question No. 10
Ife 'GARDEN' #r '325764' & 7 # 3R 'WATER' #r '92165' & &7 Feag fRar Sar g, ar 38 s 9
'WARDEN' 3 Feas Rar smee?
A)925764 B)957264
C)295764 D)952764

If 'GARDEN' is coded as 325764 and 'WATER' is coded as 92165, then how would "WARDEN' be coded in
the same language?

A)925764 B)957264
C)295764 D)952764
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3210134801&gwer=10)

Question No. 11

e w3t Fr Ed 21 1 IR ggehr e qEd e & AN § AR qEdr wewr Al @ & et B, o

qgell HEAT AT FfT
A)27 B)18
C)36 D)24

The average of three numbers is 21. If the first number is double the second number and the second number
is double the third number, find the first number.

A)27 B)18
C)36 D)24
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3210134801&gwer=11)

Question No. 12
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A 18 27
C. 36 45
Simplify: 2'?-[5-[6+2[‘?-ﬁ]ﬂ

A. 18 27
C. 36 45

Answer Key: C  Your Response : A (Wrong)

Raise Objection(Question No. 12) (objection.aspx?qwr=3210134801&qwer=12)

Question No. 13
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3 9T H @) FUA QU a0 § 30 91g o s §| 3§ AhY A g S dF 6 IWUR W e 39 @
Fye: 1) W WsEH oard §1 2) P carg i g ¥ AR | @ §9$ wssw € 1. P <l ams A

gl
A)Fae Ay | grelel T B B)alAt fassy | 3R Il grelel Xt gl
C)Fad faswy |l grefeT e ¢ D)7 ar sy | 31X o & |l 9refeT &

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All sides are lengths. 2) No length is breadth. Conclusions: I. All lengths are
sides. Il. No breadth is side.

A)Only conclusion | follows B)Both conclusions | and Il follow
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3210134801&qwer=13)

Question No. 14
T 35 et TAHor & qu 3N gl T Iqard § 4 : 1] IR Bor F faRed 7 ohex gl Ber &7 se, o
AW wod 0T F g AR uelr & equrd F aar oend|
A)5 : 1 B)2 : 1
C)6 : 1 D)1:5

In a mixture of 35 litres, the ratio of milk and water is 4 : 1. If another 7 litres of water is added to the mixture,
find the ratio of milk and water in the resulting mixture.

A)5 : 1 B)2: 1
C)6:1 D)1:5
Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3210134801&qwer=14)

Question No. 15
AR TET FAT A FUH Afger semaT Hla o
AT d8eT B)ssd & FS Ashoq =Tg
C)GAIdT et D)&fSeT A g

Who was the first woman President of the Indian National Congress?

A)Annie Besant B)None of the options
C)Sucheta Kriplani D)Sarojini Naidu
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3210134801&gwer=15)

Question No. 16
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39 Tasheq &7 FAT Y AT Al T i R qaH A= A=A T FAAT g AA

ZY9 & XY % "1 7= ST 2|
X
Y
A
C. | |

Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

e M

||

Answer Key: A Your Response : B (Wrong)

Raise Objection(Question No. 16) (objection.aspx?qwr=3210134801&gwer=16)

Question No. 17

R # R Aefaf@a & @ frad g@rr aRw=or & faw S fFe o §7?
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AT §F B)RBI
C)IMF D)SEBI

Through which of the following are the coins issued for circulation in India?

A)World Bank B)RBI
C)IMF D)SEBI
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210134801&qwer=17)

Question No. 18

I F [WH TG & fov ufdg &
A)YTT & 3cdreT B)srd 3c@rer
C)FER e D)ar™T & 3cage

Barak valley in Assam is famous for-

A)Paddy cultivation B)Bamboo industry
C)Cottage industry D)Tea cultivation
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3210134801&qwer=18)

Question No. 19
A R v yee ¥ ve oA & ¢ 3 o 3w Ry oRfPufy & et F faoky oo % faw wr @ g1 &
IA$ SR F IUN W 3R el FKC I T el WU A A § e o & a0 Rew afdwe &
FKC %% & 1000 ¥ 31ftre ¥R §, St f&aa: aRa & §, O gars rssh, Yod ®eet 3k Aetd dar &t &
451 &aer 3m3cae AR 627 718 Fe ©R wffe §1 FKC 9 r@any, 9ffwni, geas, vl 3k seaew
3crel #r T S@er 9 ¢ R ST Jeae #F 7 R Wi 8.30 a9 ¥ AT 5.30 T & AT Ger @l
g Reor aRede & &0 #, a0 30s § 30F A F@ & QAT 3@ H TPl F1 Jedid FQ@ §e
IETURYT Ageh el Jeid F & T ER €1 39 787 &7 @ #{e aig & gFah @os § Fd FA ¢
Uy, § F Wl FAM whgd &7 F T F FH W § IR AT I @ @R F sy gost F F
A AT HERTHAT BIell &1 FAIAR HT g RUAT IFT 7 Th Fednh AR @ i Iole § & W g
e 11 T 9 @& OeT & 3F o & AT Rl @os § o1 W@ 8 §, T F Iora @9, 3T a@d §
5 agf Fhr 0% cgaem ¥l 3o B W AN gr g 93 € eARaEr id § AR 3o 3cue ded

reARAT & @ &1
ARTTS &7 it & giaa & & @os FB)E 3% o AR aftw o #@ww o IRk aeqe
TEJAHIOT &l A & FHEAN § 3rcgafeyd Fer ar 30 Uer & R &

C)3uel @us #H A SU 3R 39a &AF ST & & FD)Fe o HU THad: Ig d9 VAT dF AT &
TR H A X & v &ar 3muer 10 Ir 15 @Isor & § 3R 98 388 e @ue o9m| Ig g&sm
fAwe & AT oISt S Fha ¥ A 98 TEA Gid1 &, S Hehel & o Rl & o 819 & o egaed § 3R
8T F SToal A TTE el & fov TAAN & oisy 3T fhalr fior &1 3ea@ o TAAT EH A dgooid
PN FETIAT T IR Y 3R 39T & s 11.30 §oF 7T AT dlgcd

o
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The question given below presents a situation and asks you to make a judgment regarding that particular
circumstance. Choose an answer based on the given information. You are a Retail Assistant working in the
Mumbai branch of FKC pens, a national stationer’s chain. FKC pens has over 1000 stores, primarily in India,
including 451 travel outlets at airports, train stations and motorway service areas and 627 high street stores.
FKC pens sells a wide range of newspapers, magazines, books, stationery and impulse products; most
branches are open 7 days a week between 8.30 a.m. and 5.30 p.m. As a retail assistant, you are responsible
for providing exceptional customer service while demonstrating product knowledge to maximise sales. You
work primarily in the book section of the Mumbai branch; however, all the branch staff work as a unified team
and therefore you are often required to work in other sections throughout the store. It is a Tuesday morning
and a colleague in the stationery section is away on sick leave. At 11 a. m. you are on your way to the
staffroom to take a quick tea break when, passing through the stationery section, you notice that it is in a
reasonable amount of disarray. Products have fallen on the floor and been left lying there, shelves are untidy
and some products are on the wrong shelves.
A)Inform the stationery team leader that there is aB)Take your tea break and then on the way back
problem with the presentation of the section quickly tidy up a few bits and pieces if it's still in a
state
C)Go back to your section and ask your team leaderD)Do nothing. The stationery team leader probably
whether you can be spared for 10 or 15 minutes to has it all under control and will deal with it soon. It is
help out in stationery. If agreed, offer your help to understandable that there is a bit of a mess as
the stationery team leader to quickly tidy up the area someone is away and you don't want to insult the
and take your tea break at 11.30 a.m. stationery team by mentioning anything
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 19) (objection.aspx?qwr=3210134801&qwer=19)

Question No. 20
3T ggw Shaar arelr ggelr ARAT AT Fier A2
A)FUTH Heazadr B) ST wigarel
C)gralr #Afcrs D)A &iA

Who was the first Indian women Olympic medal winner?

A)Karnam Malleswari B)Saina Nehwal
C)Sakshi Malik D)Mary Kom
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210134801&qgwer=20)

Question No. 21
IR R ST T 35% 175 &, aF 175 T 19T fohclell WA a8 W& aefr?
A)280% B)35%
C)65% D)286%

If 35% of a number is 175, then what approximate per cent of 175 is that number?
A)280% B)35%
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C)65% D)286%
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 21) (objection.aspx?qwr=3210134801&qwer=21)

Question No. 22

I HT |

A)E15J5 B)H19K3

C)B13K9 D)L31S9

Find the ODD one out.

A)E15J5 B)H19K3

C)B13K9 D)L31S9

Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 22) (objection.aspx?qwr=3210134801&qwer=22)

Question No. 23
T t1aE 200 A # dls 24 A&z F QU T T UEF A Afq =T 2
A)30 frefireer B)24 fray/eer
C)20 fawi/eier D)28.5 farsii/eiet

An athlete runs 200 m race in 24 seconds. Find the speed of the athlete.

A)30 km/hr B)24 km/hr
C)20 km/hr D)28.5 km/hr
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3210134801&qwer=23)

Question No. 24

100 e oidlr v &7 36 freli/der A aify & T UF T IR FA H 25 s AW 1 GeT HY oars A

CoIE iy
A)90 Hrex B)150 #ex
C)240 X D)144 #ex

A train 100 m long running at 36 km/hr takes 25 seconds to pass a bridge. Find the length of the bridge.

A)90 m B)150 m
C)240 m D)144 m
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3210134801&qwer=24)

Question No. 25
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o I Fased T 5 | 39 HEAT T A S A S G e 7w g (7) #

T 31|
11414
1]6|9
119>
3 4
C. |5 D. |6

Choose the number from the given options that would best replace the
question mark (?) in the figure below.

1 |4 |4

11619

119]°?
A |3 B. |4
C 5 D. |6

Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3210134801&qgwer=25)

Question No. 26

gfe & dEasit &1 AT 33 § 3R 399 AT 15 §, dF g 99 §Edr A S


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V Eonole Play

A)12 B)9
C)24 D)15

If the sum of two numbers is 33 and their difference is 15, find the larger number.

A)12 B)9
C)24 D)15
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3210134801&qwer=26)

Question No. 27

Useufd & ug fr A9y FlT Rerar §?
A)HRT & HTT ~grareir B)9err= #HaY
C)3mrsgufa D)l & 3TET8T

Who administers the oath of office to the President?

A)Chief Justice of India B)Prime Minister
C)Vice-President D)Speaker of Lok Sabha
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3210134801&qwer=27)

Question No. 28

HR-AvSE T FIA T31 3YAT Hlerar g2
AT B)die
C)drts D)erSesT

Which of the following is the largest satellite of the Solar System?

A)Sun B)Moon
C)Ganymede D)Titan
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3210134801&qwer=28)

Question No. 29
g x+y+z=1,xy+yz+zx=-1, xyz=-1% ar x® + y3 + 23 & AR AT |
A)3 B)7
C)4 D)1

Ifx +y+z=1,xy+yz+2zx=-1, xyz = -1, then find the value of X2 + y® + 2.

A)3 B)7
C)4 D)1
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 29) (objection.aspx?qwr=3210134801&gwer=29)

Question No. 30
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T [ HLT 2
- I
o !
O O
ol o
A © o B. ||
c. ||Io\o D. o

Choose from the alternatives the figure that best completes the

pattern given below.

-l B
= -
AES
ol o
A |90 B. ||E 0
C. ||ION\CO D. O
=]

Answer Key: A Your Response : A (Correct)

Raise Objection(Question No. 30) (objection.aspx?qwr=3210134801&gwer=30)

Question No. 31

HRA o 1975 7 qout i ghhr faea F9 Rrahr Foaeh # Shar ar?
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A)FeeR g B)3tsiter arel T
C)geia R D)=Rued &g

India won the Men's Hockey World Cup in 1975 under the captaincy of-

A)Balbir Singh B)Ajit Pal Singh
C)Surjit Singh D)Charanijit Singh
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210134801&gwer=31)

Question No. 32

P s F e =ler JErr S 82
INET G B)3nfaem
C)gstta D)df@eraTg

In which state is the Onam festival celebrated?

A)Kerala B)Odisha
C)Punjab D)Tamil Nadu
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3210134801&qwer=32)

Question No. 33

T e A A FART el U Toh Aol A Fgl, "gH oAl I THAT dged 1 98 A ofq i ager &1 ToW

FT 39 Afgemr & F1 Hay g7
A)Rar F ams B)IE &I S
C)arar D)eTTE

Pointing to a man, a lady said, "The daughter of his only sister is the sister of my husband." How is the man
related to the lady?

A)Brother of father B)Brother of mother-in-law
C)Grandfather D)Son-in-law
Answer Key: B Your Response : D (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3210134801&qwer=33)

Question No. 34
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fAmfaf@d &7 & @R Yoo Fr wEuEigEas 96 3R AT Re 70 e F 3o’ &1 3FHeER aeT & () w7
¥ FH 55% 3wl & W FOaF @l (i) 1 $EQ, 2017 F eraw g 30 a § &7 AR AfOFad 3y 35
af ¥ M g Pl WiRwl (iii) Y& BT F T F 40000 FTIC F SPFIAT F F AT R B (iv) FA
¥ FH 3 af F FH o AP @ (v) RR-@T olew F 7 & F7 50% 3F & 97 BFAr @ (vi)
PP TEHR H FH F FH 40% 35 d 99 Far @ Ry 37lgar () & (vi) a5 @ 3 Aves &t
9 FAV g 3¥ T Seam| R 3 A % SiEl 3Rficar @l ATaEs F QU e @ fa () ¥,
AfReT 3T IRMIET/ARIR F AT Aegar & T y&qusT §F W-F=Aas 6 Bl F 7  F7 55% 3
e BT g, a 39 A B GM-ITT & g AT gl R 0 A F Sgl 3icar @ Arges &
R Fa/r & fare (i) F, AT a7 1 af & §vs W FERR &A@ & A IR &), aF 38 A & SVP-
TS & 9 A g IS 3FleaR & el P gEar FA ¢, O 38 Ao SeT F w9 & A @igw
HfacT F e 14.03.1983 FT 3T AT| I/ TIF T H 65% 3% W e &1 38 w7 60% 3 3R
SATFTIIT WETPR & 48% 37 Il §U &1 3% I 3 af FH HT 1 IT §1 9§ 40000 FIC F F&i

fBdifore & sorae & AT R B
A)3er 3qgicT B)3FHIcaR & fAgerd foham S =i
C)3+HICaR T TIT Agl fohdT IT T & D)3FHIcaR & SVP-IsTol Sl AT g

Study the following information carefully and answer the question given below. The candidate must: (i) Be a
graduate in any discipline with at least 55% marks. (ii) Be at least 30 years and not more than 35 years as on
1 February 2017. (iii) Be ready to pay Rs.40000 as security deposit. (iv) Have work experience of at least 3
years. (v) Have cleared the written examination with at least 50% marks. (vi) Have cleared the personal
interview with at least 40% marks. In case a candidate satisfies all the other criteria from (i) to (vi), he/she
shall be selected. In case a candidate satisfies all the other criteria EXCEPT (i), but has secured at least 55%
marks in post graduate in Management with specialization in Economic/Statistics, the case is to be referred
as GM-Personnel. In case a candidate satisfies all the other criteria EXCEPT (jii), but is ready to sign a bond
of 1 year, the case is to be referred as SVP-Personnel. If there is any loss of information in the candidate
details, it should be treated as Data Inadequate. Kavita was born on 14.03.1983. She has secured 65%
marks in selection examination. She has also secured 60% marks in graduation and 48% marks in personal
interview. She has a work experience of 3 years. She is ready to pay Rs.40000 of security deposit.

A)Data inadequate B)The candidate has to be selected
C)The candidate cannot be selected D)The candidate has to be referred as SVP-Personnel
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3210134801&qwer=34)

Question No. 35
R o g e gU B F IRRT w0, aw A Rar F T & 9 f o= g1 O IR F Y wea

Y4
A)ardr B) e

o

C)Ar D)sgeT
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Senthil introduces Priya saying, "She is the wife of the grandson of the father of my father." How is Priya

related to Senthil?
A)Aunt
C)Mother

Answer Key : B Your Response : B (Correct)

iy sy o Pt Paager 2

B)Sister-in-law
D)Sister
Raise Objection(Question No. 35) (objection.aspx?qwr=3210134801&qwer=35)

Question No. 36

23
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How many triangles are there in the given figure?

A 21 B 23
C 25 D. |27
Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 36) (objection.aspx?qwr=3210134801&qwer=36)

Question No. 37
et 8 qost &Y Jftwd 37 2 af ¥ a7 95 Sl ¢ S 3 F oY @t Rt 37 21 F§ 3R 23 T §, 3
T W &) AT GO A &1 & AT GOl Hr 37 FT Gar FM|
A)30 a¥ B)24 a%
C)28 a¥ D)22 a¥

The average age of 8 men is increased by 2 years when two of them whose ages 21 years and 23 years are
replaced by two new men. Find the average age of the two new men.

A)30 years B)24 years
C)28 years D)22 years
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 37) (objection.aspx?qwr=3210134801&qwer=37)

Question No. 38
e oo #, R 91w el F @ Wefta e #1957 H 13 :19 2 2 : 31
A)26 B)29
C)21 D)23

Which number will best complete the relationship given below? 13 : 19 :: ? : 31
A)26 B)29
C)21 D)23
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Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210134801&qwer=38)

Question No. 39
i 582 & x% FT 15% = 17.46 ar &, ar X' & AT AT HfAC)
A)25 B)10
C)20 D)2

If 15% of x% of 582 = 17.46, find the value of 'x'.

A)25 B)10
C)20 D)2
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3210134801&qwer=39)

Question No. 40
afy el wEar # 40% qEd HEr & QAR & SO ¥, df Tgelr & qudr 6% & 9 1 9 = 82
A2 : 5 B)3 : 7
C)7:3 D)5 : 3

If 40% of a number is equal to two-thirds of another number, what is the ratio of first number to the second

number?

A)2:5 B)3:7

C)7:3 D)5:3

Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210134801&qwer=40)

Question No. 41

i & dEansit &1 3K 3 § 3R 3% Tt & FR 39 &, O T 99 T&AT AT Hifow]
A)13 B)8
C)9 D)12

If the difference of two numbers is 3 and the difference of their squares is 39, then find the larger number.

A)13 B)8
C)9 D)12
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3210134801&qwer=41)

Question No. 42

AT F A acd fra Gor F T gier 82
INGEQL: B)gEqrd
C)ergefarast D)eeT

The element of a heater is made of-
A)Nichrome B)Steel
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C)Titanium D)lron
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=32101348018&qwer=42)

Question No. 43

TF TST & JEIAN ¥ 9fq STaecs gl
A)faere g B)IrsargeT
C)9YT#HAT D)IrsaqTel

Chief Minister of a state is responsible to the-

A)Legislative Assembly B)Rajya Sabha
C)Prime Minister D)Governor
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 43) (objection.aspx?qwr=3210134801&qwer=43)

Question No. 44

f=ff@a Jeert i aEuEiqas g6 3R A B 71T ma & 3ar &1 & BT @1 o8 &= P, Q)
R, 'S, T 3R U F F 9qF W 6T §, afheT S& 7gf § & a8 s A § 50| ag Afef@a adf &
IFER foeT T Frpe feiRa ar 8, 1) 3% 'Q 3R T & T P W IaRF I ¢ i) 3§ 'S’ ¥ OF v
'Q W G ST ¢l i) Y SeTE SIEt a8 Swem ag 'R’ €1 iv) 3¥ 'S' & 91 T W At Iew g1 v) T AR
'Q & &7 tF SHEIE g aifgrl Beaddd, 'R & aig AT w2t F & g s ST wehar ¢, Rare-

AU B)T

c)Q D)S

Read the following information carefully and answer the question given below. A deliveryman plans to visit
each of the six places 'P', 'Q, 'R’, 'S', 'T" and 'U', but not necessarily in the same order. He is setting up his
schedule for the day according to the following conditions, i) He must visit 'P' before 'Q' and 'T'. ii) He must
visit 'Q' immediately before 'S’. iii) The third place he visits must be 'R’. iv) He should not visit 'T" after 'S’. v)
There should be one place between 'T' and 'Q'". The deliveryman could visit anyone of the following places
after 'R' EXCEPT-

A)U B)T
C)Q D)S
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 44) (objection.aspx?qwr=3210134801&qwer=44)

Question No. 45

AT Fr e T §7?
A)FaTd B)h&
C)shlelk D)g&r

What is the currency of Burma?
A)Kyat B)Franc
C)Kroner D)Peso
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Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210134801&gwer=45)

Question No. 46

HIF TR e R R@ré &ar &2
A)TeRTRT FT gEdaTT B)YehIr & 3Tdciel
C)9ahreT & WRTdcleT D)9ahIT & GehrofeT

Why does the clear sky appear blue?

A)Interference of light B)Refraction of light
C)Reflection of light D)Scattering of light
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=32101348018&qwer=46)

Question No. 47

FI§ GAURT WYUROT SATST HY &X F 2 uf 3 2800 € g ek § 3R 5 auf & 3250 9w g Jweh &1 sarr Hr

W AT F?
A)4% B)2%
C)8% D)6%

A sum of money at Simple Interest amounts to Rs.2800 in 2 years and Rs.3250 in 5 years. Find the rate of

interest?

A)4% B)2%

C)8% D)6%

Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3210134801&qwer=47)

Question No. 48
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I Fashed T 5 | 39 HEAT T A S A S A T e 7w e (7) #

T T
Al?l Flelo
21 clw0f|)|3]uv
A |12 15
C. |18 D. |19

Choose the number from the given options that would best replace the
question mark (?) in the figure below.

211 C 101 3| v

12 15
C 18 D. |19
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 48) (objection.aspx?qwr=3210134801&qwer=48)

Question No. 49

$esHr dHE JEaE Fae


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaic47 Eooale Play

A) el otel B)3H & #I$ fashe et
C)AmEY ol D)wrfgae

Who authored the book 'Indica'?

A)Abul Fazal B)None of the options
C)Megasthenes D)Fa Hien
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3210134801&gwer=49)

Question No. 50

50 slicgs YgHT TS fasar Fr 15 dicgs F FT Hew F AN gar ¢l 3HH oAt oy gfawd A

|
A)43% B)25%
C)23% D)53%

By selling 50 notebooks, a vendor gains the selling price of 15 notebooks. Find his approximate gain per cent.

A)43% B)25%
C)23% D)53%
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3210134801&gwer=50)

Question No. 51

RT & dfatnrer fr FadT yomelr #r § forr = ar |
A)FATST B)&H
C)fsieat D)ZeT3es FeoH A% IHARH

Parliamentary system of Indian Constitution was taken from-

A)Canada B)Russia
C)Britain D)United States of America
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3210134801&qwer=51)

Question No. 52

18§ TRIE Fal F AN ARG H HART H FIT ARANT WS tasianss ar?
A)faser BeTe B) el TrHITST
C)IET EReAreret D)aeiaT gferar

Which Indian sportsperson was India’s flag-bearer at the closing ceremony in the 18th Asian Games?

A)Vinesh Phogat B)Rani Rampal
C)Rahi Sarnobat D)Bajrang Punia
Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3210134801&qgwer=52)

Question No. 53
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GoUEY AR & feafaf@a & & fFa asr & Rua @2
A) TR B)3nfaar
C)AET vear D)ITSTEdTeT

In which of the following states of India is Khajuraho located?

A)Bihar B)Odisha
C)Madhya Pradesh D)Rajasthan
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210134801&gwer=53)

Question No. 54

arsr Agel P 18 & I &1 8§72
A)SFETT B)THAT
C)aHer D)aram

Taj Mahal is built on the banks of the river -

A)Brahmaputra B)Yamuna
C)Narmada D)Ganges
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3210134801&qwer=54)

Question No. 55

TS A Y $.872 F G W 9% F AT AST| PR A $.791 F v FNar §, O g g w=r @en?
A)1.125% B)0.125%
C)2.125% D)2%

By selling a radio for Rs.872, the profit got is 9%. What will be the loss per cent, if it is sold for Rs.791?

A)1.125% B)0.125%
C)2.125% D)2%
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=32101348018&qwer=55)

Question No. 56
fAmfaf@a & & fraer R T & e & &9 F w1 0 7 B 82
A)P.V. RfaFeT @ B)eg A
C)dgarar D)ARRST ¢a18

Who among the following has never served as a Chief Minister of an Indian state?

A)P.V. Narasimha Rao B)Narendra Modi
C)Chandra Shekhar D)Morarji Desai
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 56) (objection.aspx?qwr=3210134801&qwer=56)

Question No. 57
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B E E E
Al [c(® [p Y [r[A

A B B D

c. |c D. |z & F1E 7@

Four different positions of the same dice are shown below. Find the
alphabet on the face opposite to that contains F.

A B B. |D
C. |C D. |Noneof these
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3210134801&gwer=57)

Question No. 58
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fafaf@a sTeer #F FEueiqEs g¢ 3R A Ru v g # 3ar &) 9fg a7- P, 'Q, R, 'S AR T
39 TR, e, e, AN & wWaa 3R 37 F v 9Rdg § AT &0 7€ B T 30 & 7 gt () P
AR 'R R I it & Qe gk a8 & (i) 'Q #R T ReEwar ar A F a6 F R gk a8 & (i)
57 3K RFwer &7 P & FS AT & &1 (iv) 'S’ 3R T Tl 3R R F R g F&F & (v) 'S
e ¥ v yRg 518 §1 T ‘T Ffa@d & ¥ g Rdvar & o ulRg &2

A) ST B)s¥
C)fRrem D)f&ET & sdaT

Read the following information carefully and answer the question given below. Five cities—'P', 'Q', 'R’, 'S' and
'T' are famous for their garden, painting, education, pottery and scents, but not necessarily in the same order.
(i) 'P' and 'R' are not famous for education or garden. (ji) 'Q' and 'T' are not famous for painting or pottery. (jii)
Scents and painting have nothing to do with 'P'. (iv) 'S' and 'T" are not famous for garden and painting. (v) 'S'
is not famous for education. City T is famous for which of the following features?

A)Painting B)Scents
C)Education D)Pottery
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3210134801&qwer=58)

Question No. 59

I fashed &7 FAT F7 S &7 T2 e R A =L A A=A T FIGT AR
Z99 % XY % |14 7= ST 2|

X

N @ s | @)
9 >
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given figure when the mirror is held along XY.

X

Y
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Answer Key: C  Your Response : C (Correct)

Raise Objection(Question No. 59) (objection.aspx?qwr=3210134801&qwer=59)

Question No. 60

AETH ST T A1H Seelml dfReily Fa @ I=T A1?

A)1969
C)1970

B)1971
D)1968

When was Madras State renamed as Tamil Nadu ?

A)1969
C)1970

Answer Key: A Your Response : A (Correct)

B)1971
D)1968

Raise Objection(Question No. 60) (objection.aspx?qwr=3210134801&qgwer=60)
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